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1. Find [x+/3x + 1dx. (10%)

2. Find [ x3e™2* dx. (10%)

3. EEFRY A XF B er S R(X)—125+2x+x2’.f§—i%»‘ﬂ&;é2C(x)=100—2x+§x2

L AIBP(X) = R(X) — C(x) » 3K+ 2 & 5 5 B 7 25 5 % 11522 (10%)
(x+1)(x242) . )

5. T\ 5' x Qvﬁi (10%)

x34+2x+45

1 3
(x2+1)3 (2) y= ( (3x+2)2)

(1) y=

6. Evaluate A = dx (10%)

[

tan3x

N

7. Evaluate [ dx (10%)

8. Evaluate[* tan* xdx.(5%)

9. Show that the normal probability density function f(x) = \/%_ne‘xz/z has points of inflection when
x=11. (5%)

10. Differentiate g(t) =

(10%)

(2t- 3)2

. R _ 3= 1o
11. Find the derivative of y = e (10%)




